Solution to Homework #4

Question 5

If firms can use their own funds to finance their projects, higher interest rates will still lead to lower investment activity. Why? Each firm has a bunch of investment project lying around with different expected returns. Some projects have high others have lower expected returns. At low interest rates many of these projects will earn a higher return in expectations than the interest rate on the market. Hence, the firm cannot increase its wealth by putting these funds into bonds instead of its projects. As the interest rate increases, fewer projects will earn a return that is higher than the current interest rate of bonds. Hence it is profitable for the firm to realize fewer projects and put the remaining funds into bonds. 

Question 7

a. The tax cut shifts the IS curve to the right and expansionary monetary policy shifts the LM curve to the right. Hence, the new equilibrium will be characterized by higher output. The interest rate might be higher or lower than in the old equilibrium depending on the relative magnitude of the shifts.

b. The Clinton administration increased taxes which shifts the IS curve to the left. Without monetary policy this would have lowered interest rates and decreased output. However, this only part of the story. At the same time, the Federal Reserve conducted an expansionary monetary policy which shifted the LM curve to the right. This policy lowered interest rates and stimulated investment demand and output. Depending on the relative magnitudes of the shifts of the IS and the LM curve output will rise of decline in response to such a policy and interest rates will fall. 

c. The book notes that during the Clinton administration consumers and firms were very confident. Hence, the story in b might be incomplete unless one considers the effects of such growing confidence. If consumers and firms become more optimistic this induces a shift of the IS curve to the right inducing an increase in output. Things were the other way round in 2001. If you take a look at the data, output declined in 2001. There are many ways of reconciling this observation with the policy described in a. One way is to introduce consumer and firm  pessimism: concerns about a new increase in the budget deficit due to the tax cut or the events of September 2001 which introduced a lot of uncertainty into the business world. This pessimism can shift the IS curve to the left and thereby working against the effects of the tax cut.

Question 8

a. Increase Y while keeping I constant: tax-cut and expansionary monetary policy

b. Reduce fiscal deficit and keep Y constant: increase taxes and expansionary monetary policy. Interest rates drop and investment is higher than in the old equilibrium. 

